2
<4a—|—%> S ASA?
4 1 8 1
16a® + —a + — 1602 &+ 2g + —
© 16a +45“+125 @6 +45“+125
4a’ + —a+ - 4+ St —
®a+5‘1+51 @a+5a+25
4?4+ Za+ —
© da®+ za+ o

1 1\2 ] 1
4a)* + 2 x dax = (-> — 1642 + g+ —
(4a)* + a 5—|— 5 a~|—5a—|—25




2. (2x-5)? = px? +qx+25 L W, 5 p, g ol Histo] p—q O gk2?

@24 @ 30 ® 36 @ 42 ® 48

(2x)2-2x2xx5+5% = 4x2-20x+25 O| B2 p—g = 4—(-20) =
24




3.  —8a%b+12a%b 9] ¢l57} obd ALY

O -4b @ —4ab ® a?b

@ab2 ® 2a-3

—8a%b + 12a%h = —4a*b(2a — 3)




% 2a3b - 6a*b* O] Q1571 ofd

® 2 @ 24a%b
@ a-3b ® 2(a-3b)

2a3b — 6a*b* = 2a*b(a - 3b)




150% - 149? = 150 + 149 & A@sh= ol Bak e 24
T2H?

@® a® + 2ab + b* = (a + b)?
@ a?-2ab+b* = (a—b)?
@)a? - 12 = (a+b)(a-b)

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
m2tA] o] 881 FAL2 a2 -b? = (a+b)(a-b)




6. (x+a)(x-4)=x*-*Ld W, a+b9FT2?(Fb>0)

® -16 @ -8 ® 2 @)8 ® 16

B

(x+a)(x—4) =x*>+ (a-4)x—4a = x*> - b?
a-4=0°B2 g=4

b2 = 4da = 160|128 b =4 (- b > 0)
“a+b=4+4=38




7. (20 3) (4t 5) & AASGE W, x o ASE?

1 1 1
©-: @-: ©@-5 @

e At 2x g+ (3 ) x4= oIk




8.

2x+ 32+ (x+2)Bx+ 1) =ax®> + bx+c L W, A a, b, ¢ 9

a+b+c o g7

D 11 @ 22 ® 33 @44

® 55

ok

~&B

2(x% + 6x+9) + (3x% + Tx + 2)
=2x> +12x + 18+ 3x2 + Tx + 2
= 5x2 4 19x + 20

a=5, b=19, c=20
na+b+c=5+19+20=44




® a? @ a? + 2ab + b? ® a?-ab
(@)az—b2 ® a® - 2ab + b?

A2 ] gol= (7129 4o]) x (A= Z9]) °o|B= (a+
b)(a-b) = a® - b2 O[T},




10.

9x2 + Ax + 16 7} &AA|FA o] H &

O 24 @ 12 @ +10

S, A9 27

@ +12 (@)124

A=+24

9x2 + Ax + 16 = (3x £ 4)% = 9x? + 24x + 16




® (2a+ 3b)(2a - b)

@(2a + 3b)(2a — 3b)
® (2a+9b)(2a-b)

@ (2a+ b)(2a - 3b)

@ (4a+ 3b)(a - 3b)

‘ 4a? - 9b? = (2a)? — (3b)% = (2a + 3b)(2a — 3b)




12. thg 5 1 Aol £4 g RS NEW?

@® 972 = (100 - 3)? = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x49=(5+0.1)(5-0.1) = 5% - 0.12 = 24.99

® 3012 = (300 + 1)% = 300 + 2 x 300 x 1 + 12 = 90601
@ (V2+ V3)(V2- V3) = (V2)2 = (V3)* = -1

(= V10 - ¥2)(V10 - V2) = (V10)* - (V2)* =8

O




13. %% —dx+3 %%y -3xy o T AFE?

® gt @) (x-3)
@ (2x-3) ® (x=1)(x-3)

® (x-1)

¥ —4x+3=(x-1)(x-3)
x%y — 3xy = xy(x - 3)
wfep 254 ASE (x-3) ol




14. x+39x2-x+a9 205 0, g 9 FL2?

@-12 @06 -3 @4 ® 12

B

x+3°x-x+a9 JdFolBR2 2 —x+a=(x+3)(x+0D)
Z A2 "ok

ol x+3 =0 ©F 3he x 3k -3 & o
(-3)2=(-3)+a=0

Sa=-12




15. thg 27 gol g el golk

1 1 1 1
xQ A @ Afe}, T o xﬂleﬁlﬁ
1

- -8

Aol 717} x, 191 HAH2H 5

1 1
7N, 3t ¥9] Zol7k 191 HAH NN 1@1@

6712 Al sto] M1zt 7

NS wrEesi). o] Azt LA
7t2e] 10|15 o, M2o] AolE bet & U, (a + b)2 9] W &
H=71?

@ x®+5x+6 @ (2a+ b)?

®)4x2 + 20x + 25 @ (4a+ b)?

® 25

r
- -8
&
-8

—

~&B

TR0l x Y AT & 7S Wol: 2
A=, 7t27F 27t x, 191 A 5709 ‘5}0]: 5x
3 Ho] o]z} 191 A 6719 Wol:
utetA AAR o] Yol
x% +5x+6 = (x+ 2)(x + 3) o]t}
7t2 AolE x+3 =0 A2 ZolE x+2=b}5IH
(a+b)? =(x+3+x+2)?
= (2x+5)?
= 4x? +20x + 25




